

SIII

① $f: (1, +\infty) \rightarrow \mathbb{R}, f(x) = \frac{x^2}{x-1}$

a) $\lim_{x \rightarrow 1} \frac{x^2}{x-1} = \lim_{\substack{x \rightarrow 1 \\ x > 1}} \frac{x^2}{x-1} = \frac{1}{0^+} = +\infty \Rightarrow X=1 \text{ A.V}$

b) $\lim_{x \rightarrow 2} \frac{f(x)-4}{x-2} = \lim_{x \rightarrow 2} \frac{\frac{x^2}{x-1} - 4}{x-2} = \lim_{x \rightarrow 2} \frac{x^2 - 4x + 4}{(x-1)(x-2)} =$

$= \lim_{x \rightarrow 2} \frac{x^2 - 4x + 4}{(x-1)(x-2)} = \lim_{x \rightarrow 2} \frac{(x-2)^2}{(x-1)(x-2)} = \lim_{x \rightarrow 2} \frac{x-2}{x-1} = \frac{2-2}{2-1} = 0$

c) $\lim_{x \rightarrow +\infty} \frac{x^2}{x-1} = +\infty$ (grad Numărător > grad numitor)
(2) (1)

\Rightarrow nu are A. oriz.

$y = mx + m$

$m = \lim_{x \rightarrow +\infty} \frac{f(x)}{x} = \lim_{x \rightarrow +\infty} \frac{x^2}{x^2 - x} = 1$

$m = \lim_{x \rightarrow +\infty} f(x) - m \cdot x = \lim_{x \rightarrow +\infty} \frac{x^2}{x-1} - x = \lim_{x \rightarrow +\infty} \frac{x^2 - x^2 + x}{x-1} = 1$

$y = 1 \cdot x + 1$ asimpt. oblică ✓

② $f(x) = \begin{cases} e^{x+1} - 3, & x \leq -1 \\ 2x^3 + (a-3)x - 4, & x > -1 \end{cases}$

a) $l_s(-1) = l_d(-1) \Leftrightarrow e^0 - 3 = -2 + (a-3)(-1) - 4 \Rightarrow 1 - 3 = -2 - a + 3 - 4 \Rightarrow -2 = -2 - a - 1 \Rightarrow a = -1$

b) $f(x) + 2 \leq 0 \forall x \leq -1 \Leftrightarrow e^{x+1} - 3 + 2 \leq 0 \Leftrightarrow e^{x+1} - 1 \leq 0$
 $e^{x+1} \leq 1 \Rightarrow e^{x+1} \leq e^0$
 $x+1 \leq 0 \Rightarrow x \leq -1 \text{ (A)}$

c) $a = -1; f(x) = 0$ are sol. pe $[0, 2]$

$f(x) = 2x^3 - 4x - 4$

$f(0) = -4; f(2) = 2 \cdot 8 - 4 \cdot 2 - 4 = 16 - 8 - 4 = 4$

$f(0) \cdot f(2) = -16 < 0 \Rightarrow f.$ are cel puțin o soluție pe $[0, 2]$.